	QUIZ #10 
	CIS 068 Section 2
	

	Topics :
	Sorting.                                                                 Total points: 16 (!)

	NAME (printed):
	


	QUESTION
	SC

	Use the following array for all following questions:
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	Q1: Show the result of the first 2 passes of Bubble Sort


	2

	Q2: Show the result of the first 2 passes of Selection Sort


	2

	Q3: Show the result of the first 2 passes of Insertion Sort


	2

	Q4: a) Proof that the array is a heap (=draw the tree). (backside)


	1  



	Q6: Show the result of ALL steps of Merge Sort


	3


